
Table 2:
Outcome model: linear mixed model
Informative visit model:
log(P (Rit = 1)) or logit(P (Rit = 1)) = −5 + δE[Y |b],

Fitting method: GEE (independence working correlation)
Random effects: corr(b0i, b1i)=0

Informative Simulated mean parameter estimates
Visit Process (SEs as subscripts)

δ β0 (true=0) β1 (true=1) β2 (true=2) β3 (true=3) x21 coeff.

log link

0 0.0000.004 0.9820.010 1.9940.003 3.0060.010 −0.0220.035

0.25 0.2510.004 0.9860.010 2.0040.003 3.0140.010 0.2340.032

0.50 0.4990.004 0.9990.012 1.9960.004 2.9900.012 0.5640.028

0.75 0.7560.004 0.9780.013 1.9980.004 3.0000.013 0.6190.017

logit link

0 0.0000.004 0.9810.010 1.9940.003 3.0050.010 −0.0200.035

0.25 0.2490.004 0.9830.010 2.0030.003 3.0010.011 0.2300.032

0.50 0.4940.004 0.9810.012 1.9890.004 2.9730.012 0.5080.029

0.75 0.7400.004 0.8990.013 1.9690.004 2.9370.013 0.4310.020
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